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QUESTION 1

When multiple users are editing the configuration on a Junos device, what is the default behavior when a user issues a
commit command?

A. All valid configuration changes made by all users will take effect.

B. The user\\'s configuration changes are committed; other users\\' configuration changes are still pending.
C. The user will receive an error message disallowing a commit of the configuration.

D. The user\\'s configuration changes are committed; other users will be exited from configuration mode.

Correct Answer: B

QUESTION 2

Which two statements about subnet masks are true? (Choose two.)

A. If a bit is turned on (1), the corresponding bit in the IP address is used for the host portion.
B. If a bit is turned off (0), the corresponding bit in the IP address is used for the host portion.
C. If a bit is turned on (1), the corresponding bit in the IP address is used for the network prefix.
D. If a bit is turned off (0), the corresponding bit in the IP address is used for the network prefix.

Correct Answer: BC

QUESTION 3

userf@router> show interfaces terse | match ge-

ge-0/0/0 up up

ge-0/0/1 up up

ge-0/0/1.0 up up inet 172.26.133.105/24
ge-0/0/2 up up

ge-0/0/2.0 down up inet 172.40.1.2/24

Referring to the exhibit, which logical interface is able to forward IP traffic?
A. ge-0/0/2.0

B. ge-0/0/0

C. ge-0/0/1.0

D. ge-0/0/2
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Correct Answer: A

QUESTION 4

Which routing table is used for multicasting forwarding cache?
A. Inet.3

B. Inet.0

C. Inet.1

D. Inet.2

Correct Answer: C

QUESTION 5

What does the output of the show route forwarding-table command display?
A. the Packet Forwarding Engine\\'s routing table

B. the inactive entries in the Routing Engine\\'s routing table

C. the routing protocol databases in the Routing Engine

D. the Routing Engine\\'s forwarding table

Correct Answer: A
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